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ECONOMICS
Paper — 11
Note : This paper contains fifty (50) objective type questions of two (2) marks each. All

questions are compulsory.

1. The cost incurred by the firm in 5.  Put the following in chronological
hiring labour 15 called as order on the basis of development :
(A) Explicit Cost . Law of Demand
(B) Implicit Cost ii.  Revealed Preference Analysis
(C) Marginal Cost iii.  Indifference Curve Analysis
(D) Total Cost iv. Law of Diminishing Marginal

2. The locus of Pareto Optimality in L‘Tu]ny“_ o :

Production and Consumption 1s given by (A) : i u Y

(A) The Social Welfare Function (B) : ot i Il

(B) The Utility Possibility Curve (€ i1 1 v

(C) The Transformation Curve (D) i e ¥ i

(D) The Grand Utility Possibility 6. If the monopolist incurs loss in the
Curve short run, then in the long run

3. List — I List — II a. he w!ll go out of h}lSi!‘lE:SS

a. Tea and 1. Veblen goods b.  he W!H stay in business
Coffee ¢.  he will break even
b. Car and 7 Substitutes d.  any of the above is possible
Petrol (A) aandb (B) aandc
¢. Goldand 3. Giffen goods (€) aonly (D) donly
Diamonds 7.  The condition of Pareto Optimality
d. Ragi and 4. Complementary holds correct under
Bajra (A) Perfect Competition
Codes : (B) Monopolistic Competition
;] b C d (C) Oligopoly
fg} g all ? '; (D) Monopoly
EC:}. 4 I 3 3 3. Asserﬁnp [.A] : Compared to  the
(D) 4 3 | 7 individual supply curve, the
aggregate supply curve is more
4. Assertion (A): In the short run elastic.
under perfect competition, Reason (R) : There is the
given the market demand and possibility of moving between
market supply the industry is in being out of the labour force and
equilibrium at that price which being in the labour force.
clears the market. Choose amongst the following the
Reason (R) : In the long run all the correct AnSwer,
firms in the industry earn profit. Codes :
Codes : (A) (A) s correct, but (R) 15 not the
(A) Both (A) and (R) are true and (R) correct explanation of (A).
is the correct explanation of (A). (B) (A) is correct and (R) is the
(B) Both (A) and (R) are true, but correct explanation of (A).
(R) is not the correct (C) (A) is correct, but (R) is
explanation of (A). incorrect.
(C) (A)is true, but (R) is false. (D) (A) is incorrect, but (R) is
(D) (A)is false, but (R) is true. correct.
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10.

Assuming life cycle hypothesis, let a
person starts working when he is 20
years old, works until the age of 60
and expects to die at the age of 70. If
this person earns, say T 1.50 lac
annually when he is 20-30 years, ¥ 2
lac annually when he is 30-45 years,
and ¥ 3 lac annually when he is 40-
60 years, then his life time average
propensity to consume is

(A) 0.60

(B) 0.70

(C) 0.80

(D) 0.90

With reference to demand for money,
match List — I with List — I :

List -1 List = 11

a. Demand for 1. I.M.
money is stable
b. Liquidity 2. W,

Keynes

Preference as Baumol
behaviour
towards risk

¢. Inventory 3. James
Theoretic Tobin
Approach

d. No portfolio 4. Milton
diversification Friedman

Codes :
il b C d

(A) 4 3 1 2

(By 3 4 1 2

c) 2 1 3 4

Dy 4 3 2 I

11.

12.

The negative relationship between
the gap between actual GDP and its
trend wvalue and the difference
between actual unemployment rate
and its equilibrium value is called

(A) The Aggregate Supply Curve
(B) The Phillips Curve

(C) The
Unemployment Hypothesis

(D) Okun's Law

It is often true that as the economy

begins to recover from a recession,

the unemployment rate rises because

(A) as the
recovers from a recession the
demand for goods and services
falls, so the demand for
workers falls.

economy  initially

(B) as the economy begins to

recover from a recession,
workers who were previously
discouraged about their
chances of finding a job begin

to look for work again.

(C) as the economy begins to
recover from a recession
because of the errors in the way
the data are collected.

(D) as the economy initially
recovers from a recession,
firms do not immediately

increase the number of workers
they hire. Firms wait to hire
more individuals until they are
convinced that the recovery is
strong.

Natural Rate of

Page 4
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i 51a 98 20 a4 I 2T H BT
FH AT U FHIAl €, 60 T B A
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(A) 0.60 (B) 0.70

(C) 0.80 (D) 0.90

HgT ! | &% T °, T1 H =L

& T YHfeTd
qdi-1 =t - 11

a. TET W HIT 1. S.UH &
fem &

b, SIEH & Ui 2. =g =
e % A H
LA S

c. AN (AeRgEn 3. W e
T 3TTH

d. ®E w4, fAeeT wigi
farfererar &1

E T

a b C d
(A) 4 3 I 2
(B) 3 4 1 2
(C) 2 1 3 4
(D) 4 3 2 1

11.

12,

Artas e AT 39 vafe e &

419 A=, T adiES SETE 5

#T 30 TqeH o9 & S A A=

H TAN & A TOHE T

FEA & 7

(A) FwW A 9%

(B) THfeTH =

(C) T & UHAe T &
PICETaE)

(D) 3 & FEy

T U T Bl § fF WE erdegamn

Tl | AT e ol &, A S

I T gl & Fiih

(A) ¥4 e §e) H UEE § a9
® A wH F AWl g, gHied
iRt <l W7 HE B A E |

(B) & 3eieqawT Hel f "R HeeH
A &, @ AfhE S FH U &
AH AT & a8 o e &
4, @ e ¥ &= & g me
FH A |
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et &, o ®H T A1 S
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4 7 3% ALSTH & 05 B
1 favamy a1 I |

-
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13.

14,

When additional government
expenditure i1s financed by selling
government securities, then what will
be the nature of crowding out effect,
given in List — [ in the context of the
situation given in List — 11 7

List — 1 List — 11
Crowding out Situation
effect
a. Full 1. Keynesian
Range
b. Partial 2. Classical
Range
c. Nil 3. Intermediate
Range
Codes :
a b ¢
(A) 2 3 1
(B) 3 1 2
(C) 1 3 2
(DY 1 2 3

Match items given in List — 1 with
those in List — 11 :

List—1I List — 11
a. Equation of 1. .M.
Exchange Keynes

b. Cash Balances 2. Irving

Approach Fisher
¢. Regressive 3. WL
Expectation Baumol
model of
Demand for
Money
d. Square Root 4. AC.
Formula of Pigou
Demand for and
Money Alfred
Marshall
Codes :
a b c d
(A) 2 4 I 3
(By 3 2 4 I
(C) 4 3 I 2
(D) 1 3 2 4

15.

16.

17.

18.

19.

The premise, that benefit of
economic  growth will reach all
sections of population is called

(A) Trickle up effect
(B) Trickle down effect
(C) Take-off effect

(D) Backlash effect

In whose growth model,
entrepreneur’s significance is pivotal ?
(A) Keynes

(B) Schumpeter

(C) Harrod

(D)  Domar

The classical model of economic
development emphasises

(A) Laissez-Faire Policy
(B) Capital Accumulation
(C) Both(A)and (B)

(D) None of these

Which one of the following pairs is
not correctly matched 7

Author Book

(A) Simon Asian Drama
Kuznets

(B) I. Robinson Essays in the
Theory of
Economic
Growth

(C) Karl Marx Das Kapital

(D) AW. Lewis Theory of
Economic
Growth

What does change in economic
growth 7

(A) Structure of economy
(B) Mindsets of people
(C) Natuonal Income

(D) None of these

Page 6
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2 e = i O
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1§ A e e A A E
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b. HeE U9 IO 2. Ffan feew
c. WEIHIAM®E 3. Zeg =l FiHle
T
LI Et)
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T HHEAT ABRS AP

ETR

a b C d
(A) 2 4 I 3
(By 3 2 4 1
(Cy 4 3 I 2
(D) 1 3 2 4

15.

16.

17.

18.

19,

77 4o f& e wHafg @1 M
S & W A @ AT
FEAT & 2

(A) Tzwet 2 e

(B) Tzwet 15 waa

(C) TH-HAE IE

(D) ofe g9 (SeheteT )

fems my disd |, SEH w1 TR

fiiaes a7 i &1 & 2
(A) & (B) IEfET
(C) T3 (D) WY
s TR ® FATEe Higel hd T
AT TAME?
(A) FEETET A1
(B) 5 Hey
(C) (A) 3 (B) THI
(D) 39 | @I Tl
frefafEd & § & a1 79 T2 ofad
T2
CEFED UL ED
(A) AERT Foed ; UforEs g
(B) & T . smw
i ATE
i
(C) et AT . = e
(D) T =g #aE ;R ATE
THATHE T
i Halg W @ ufvafad gt & 2

(A) =TT &l A
(B) I I AFEHT
(C) W[ @

(D) FH | FE
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20.

21.

Which States/U.Ts. have been placed
at  first three places in Gender
Development Index List 2006 made
by the Government of India ?

(A) Kerala, Chandigarh, Goa
(B) Kerala, Goa, Chandigarh
(C) Chandigarh, Goa, Kerala
(D) Goa, Kerala, Chandigarh

Assertion (A) : There is no incentive

for a profit maximizing
producer to supply the public
goods.

Reason (R) : If he produces it he

is unable to exclude people
from consuming it and hence
he cannot charge a price.

Codes :

(A) (A)is true, but (R) is false.

(B) Both (A) and (R) are false.

(C) (A) is not correct, but (R) is
correct

(D) Both (A) and (R) are correct

and (R) 1s the correct
explanation of (A).

The distribution of the burden of
paying a tax is called

(A) Sharing of tax burden

(B) Shifting of the tax

(C) Incidence of a tax

(D) Tax capitalization

Which one of the following is short
period debt meant to meet current
needs, that is filling temporary gap in
budgets 7

(A) Funded debt

(B) Unfunded debt
(C) Redeemable debt
(D) Irredeemable debt

24,

25,

26.

27.

Monetised deficit means
(A) Fiscal deficit less
payments

interest

(B) Government expenditure which
is financed through the sale of
adhoc treasury bills,

(C) Increase in RBI credit to
Central Government.

(D) Fiscal deficit less loans and
advances.

A proportionate increase in tax
revenue Lo a proportionate increase in
the tax base is called

(A) Elasticity of a tax

(B) Buoyancy of a tax
(C) Neutrality of a tax
(D) None of the above

“Vent for
applicable to

surplus — approach”™ s

(A) Rich countries

(B) Underdeveloped countries
(C) Oil exporting countries
(D) None of the above

According to monetary approach, a
revaluation of a nation’s currency

(A) increases the nation’s demand
for money.

(B) increases the nation’s supply of
money

(C) reduces the nation’s demand
for money

(D) reduces the nation’s supply of
money

Page 8
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27,
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(C) mdm s/ 5% g1 FH T
% 0 ° afg

(D) TRME HRLEE-A ud 2w
TterET

TN | AR ghg & BRI I
T AFITGE g T Feeldl & 0
(A) T H AT

(B) & F IecATEHT

(C) T & TeEgan
(D) 3T | | BT T

‘g2 T e e fme W ouge 8
AT &

(A) &

(B) T {aehiae 371

(C) e fafas a9

(D) ST H H FE T

wifze e & AN, WL H FH

I e

(A) 5T ford T i HiT T & E |

(B) w1 % ford g w1 AN A iy
FAAE |

(C) W1 &% To/ I &l |5 @ &5
AL |

(D) 1 & o e w5 eyl g g
£

Page 9

Click for Answer Key: http://www.respaper.com/ugc_net/814/2344.pdf



28.

29,

31.

The Bretton Woods System was
based on

(A) a gold standard

(B) aflexible exchange rate system
(C) a gold exchange standard

(D) none of the above

The imposition of an import tariff by

a large nation

(A) usually improves the nation’s
terms of trade and increases the
volume of trade.

(B) worsens the naton’s terms of
trade but increases the volume
of trade

(C) worsens the nation's terms of
trade and reduces the volume
of trade.

(D) wsuvally improves the nation’s
terms of trade but reduces the
volume of trade.

The value of foreign trade multiplier

will be high under the condition when

(A) marginal propensity to save is high

(B) marginal propensity to import
is high

(C) there is increase in exports

(D) marginal propensity to consume
domestic goods is high

Match the weight of different industry
eroups between List-1 & List-11 :

List =1 List = 11
a. Basic goods 1. 457
industries
b. Capital goods 2. 8.8
industries
¢. Intermediate 3. 718.7
goods industries
d. Consumer goods 4. 29.8
industries
Codes :
a b i d
(A) 1 2 3 +
(B)y 2 4 3 1
C) 3 2 I 4
(D) 1 3 4 2

32.

33.

34.

35.

Plant load factor of thermal power
stations in India in recent years has
been around

(A) 50 percent
(B) 60 percent
(C) 70 percent
(D) 80 percent

Which of the following is not the part

of National Telecom Policy (NTP)

2012 in India ?

(A) Strive to create One-Nation-
One License across services
and service areas.

(B) Achieve One Nation - Full
Mobile number portability

(C) To work towards ‘Right to
Broadband’

(D) Recognize telecom as basic
goods industry

Percentage share of the
manufacturing output of India in the
world total is now

(A) 2.2 percent
(B) 3.9 percent
(C) 6.2 percent
(D) 7.5 percent

India’s current account deficit in
Balance of Trade is mainly due to
(a) Increasing imports of oil and

petroleum

(b) Increasing imports of gold and
silver

(¢c) Increasing imports of food
graing

(d) Increasing imports of iron and
steel

Codes :

(A) (a), (b)and (c)
(B) (a)and (c)
(C) (a) and (b)
(D) (a) and (d)
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28, e I3 T RE O AT 917
(A) TEOTHE
(B) o= fafma =7 gomedt
(C) w@u fafag o=
(D) I H 9 HE T

29, U 9 I g AN W H AT

(A) WA T H AR TGl
AT & T =T w1 A | g
T E |

(B) 71 % =M 9@ & d5ad &7
3 & W= SHME & " A g
AT E |

(C) T F =AMT I H a9 H
TA1 & 3T ST HI A FFH
T T E |

(D) WHFIAET T B ANE I B
WAl & W] Sl AE
FH AL |

30, faeelt =M Ui 1 qod 3= &N oE
(A) == & Hw vgH I E |
(B) 3T & Hiara wafa 3=9 & |
(C) Traimidafg @idi € |
(D) e FEEAT & ITAE B HE

gt == F |
31, TELL W HEL % d fue s
i -1 Wt — 11

a. ToTId S I 1. 45.7
b, T ST w2, 8.8

c. WEAFH] SE = I 3. 15.7

d

. IS S 3 4, 298
FZ:
a b C d
(A) 1 2 3 4
By 2 4 3 |
(C)y 3 2 I 4
(D) 1 3 4 2

32,

33.

34.

35.

g ¥ &1 21 & 991 § 96« 6T =ZIET
H HE S ST T feheET e & 2
(A) 50 ufaE (B) 60 w9
(C)y 70 PG kG (D) 80O PIGHG

qd | ML et i (NTP), 2012

o v FAffEa e R =T R e

(A) To=7 g ud Har &= 0 U
TEUE wEGY giad T &

TEE A
(B) UH I - O HERA HaT
HegA T U & |

(C) @rsds AR & o &1 &3 |
(D) TERPH H Hed 9% A H
=7 H AT |

ool fave | vre & fafmior e &
i e e e & 0

(A) 22WewE (B) 3.9 Widvw
(C) 6.2 ufawr (D) 7.5 vfdow

MR HeqeH H IR & =] ol el
e =7 68 e 8 # 7

(a) ¢ UE T2EEE & dEHH A=
(b) ¥ami ud = F FEHA A
(¢) TaFIT & FFHE A

(d) @ TE T B agHH AEE
&

(A) (), (b)TE(c) (B) (a)TH (c)
(C)  (a)THE (b) (D) ()T (d)
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36. The MRTP Act of 1969 has been
(A) replaced by Competition Act

2002

(B) merged in Industrial Policy Act
of 1978

(C) replaced by Trade Union
(Amendment) Act 2001

(D) merged in Industrial Policy Act
of 199]

37. In the context of agricultural

development the trickle down theory
has been interpreted to suggest that

a.  Growth in agriculture output
without radical institutional
reforms will  reduce the

incidence of poverty,

b.  Growth in agriculture output
with radical institutional
reforms  will  reduce the
incidence of poverty

¢. Only  radical institutional
reforms can  reduce  the
incidence of poverty.

d.  Only growth in agriculture
output will reduce incidence of
poverty.

(A) Bothaandb
(B) Both aand ¢
(C) bonly
(D) donly

38. As per the latest figures of the
Ministry of Agriculture the per capita
per day foodgrains availability is
(A) 280 gm
(B) 440 gm
(C) 580gm
(D) 900 gm

39.

440,

41.

42,

43.

In which year the Kissan Credit Card
System was introduced ?

(A) 1978
(B) 1998
(C) 1988
(D) 2008

Assertion (A) : PL-480 grants was
used to import foodgrains.

Reason (R) : PL-480 grants
facility was granted by Japan.
Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A).

(B) Both (A) and (R) are true and
(R) is  not the correct
explanation of (A).

(C) (A)is true, but (R) is false.
(D) (A)is false, but (R) is true.

Productivity of groundnut is highest
in

(A) U.S.A.
(B) Mexico
(C) India
(D) China
NAFED 15 a

(A) Company

(B) Non-Government Organisation
(C)  Government Body

(D) Cooperative Organisation

Based on the SES data for 2010 in
India, which of the following seems
to be incorrect ?

(A) TFR=25
(B) CDR=7.2
(C) IMR =489
(D) CBR=242
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36. 1069 T THARZUL (MRTP) 31faHg9 —
(A) 2002 & Wigerdr afatEg g
e T & |
(B) 1978 & 4w g safafm=m o
e s e g |
(C) WeIgy ¥ (W9 aafafad, 2001
BT e e m |
(D) 1991 & 2= i sAfuf=a &
faera= &7 Tean |

37. Fu gE fTEm % Oed W, fewe
BTa T Bl ST T F69 & o @
UES B
a. AT TEEHE PR & N
FUE IR U Hghg THET @
prichorakuil

b.  AMEGA FiEAHE TEE & A
FuE IAET H HIhg THET B

T HH T A |

c. Tk amE giene quR # e
& TITE & Y T & |

d. % Fus IumT 0 G3fg @
TRTE] 6 T4 FH T |

(A) a3TbaE

(B) a 3 cTH

(C) HAAD

(D) HaA d

38. T G & AGHGH Hiwe & AN

i =iae uid B @R S S0 §
(A) 280 o™ (B) 440 1
(C) 580 U™ (D) 900 1A

39,

40.

41.

42,

43.
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e wige e o =aw g ad o
R Wi TS o 7

(A) 1978 (B) 1998

(C) 1988 (D) 2008

afver (A) : et - 480 ol @
WEA & EW & e ST
ferar AT o |

AT (R) : TOA — 480 FFEH Hiaer
AT ETT &7 S 4T |

ﬂg‘;’f:

(A) (A) W (R) TF 971 37 (R),
(A) &1 TET SN E |

(B) (A) 3 (R) 31 & € 31 (R),
(A) T W& =T =T T

(C) (A)TTE W= (R) ATHT T |

(D) (A) FTTE, W= (R) T9E |

T Bl StATEehd] el IeaH & ?
(A) Foam (B) Hiergahl
(C) nd (D) ==

AR FEE 2

(A) HEAT

(B) TR-TIHRT HIEA
(C) HvoRT e
(D) TEHET HIEA

qEd |, a4 2010 & fod twaw e g2
& 2w o FefaiEs & 9 S5 59 e
%7

(A) TFR=25

(B) CDR=7.2

(C) IMR =489

(D) CBR =242
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44. Upto which census, synchronous de

facto method was adopted in India
wherein the census was conducted
throughout the country in a single

night ?
(A) 1901 (B) 1931
(C) 1951 (D) 1971

Match the following :
Group -1 Group - 11
a. Typellerror 1. Py, xP =1
b. Mean > Mode 2. Probability
of not
rejecting Hy,
when it was

not true
¢. Population is 3. Positively
homogenous skewed
distribution
d. Time Reversal 4. Simple
Test random
sampling
Codes :
a b c d
(A) 2 3 4 1
(B)y 3 1 2 4
(C) 4 2 3 1
(D) 1 2 3 4

Assertion (A) : For normal
distribution Mean = Median =

Mode.

Reason (R) : Normal distribution
15 mesokurtic.

Codes :

(A) Both (A) and (R) are correct
and (R) is the correct
explanation of (A).

(B) Both {(A) and (R) are correct
but (R) is not the correct
explanation of (A).

(C) (A) is correct, but (R) is
incorrect.

(D) (A) is incorrect, but (R) is
correct.

47.

48.

49,

50.

Given  the two  regression  lines
estimated from given data as under :

Y =4+ 0.4X

X==-2+09Y

Then coefficient of correlation
between X and Y will be

(A) 04
(B) 0.5
(C) 0.6
(D) 0.8

Which of the following satisfy time
reversal test but not factor reversal
test 7

(A) Laspeyre’s Index No.

(B) Fisher's Index No.

(C) Paasche’s Index No.

(D) Marshall-Edgeworth Index No.

The value of % im a 3 x 5
contingency table is computed as 8.0,
The Null hypothesis of no
association will be tested at 5% level
of significance, if this value is less

than or equal to the value of ¥ from
the table at degrees of freedom :

(A) 8
(B)y 6
(€ 4
(D) 3

Which is a non-probability based
sampling method ?

(A) Systematic Sampling

(B) Stratified Random Sampling
(C)  Quota Sampling

(D)  Simple Random Sampling

Page 14

Click for Answer Key: http://www.respaper.com/ugc_net/814/2344.pdf



44, 9T ° B9 I 9 AUETE
aEE® Taia (de facto) F SATAET
S o g 29 9w A uee Ui ®
ST i TS i 2
(A) 1901 (B) 1931
(C) 1951 (D) 1971

45, Tr=fefes & qofea &1

'H'IE'—[ WTII
. aﬁq-“ﬁ ]_meszl
b. AT > FEIE 2. 99 9% 9 T8I T,

Al H,, ®l
STETRT TR T
AR IIPET|
c. STAHEAT 3. ¥HHH 9 H°
TIET & feras / @erar e
d. 599 TEwEE 4. 9 TR=SE
e PIDPEE]
ETE
a b C d
(A) 2 3 4 1
(By 3 | 2 4
(C) 4 2 3 1
m 1 2 3 4

46, FHWFUT (A)
HTET = WA = TEAR & |
0T (R) : TS 529 HEGIas (e
Fehell | € |

Tr!.':

(A) (A) @ (R) A W & 3F (R),
(A) F TE =TT |

(B) (A) #¥ (R) T TEl €, W= (R).
(A) I W& AT T |

(C) (A) WETE, W= (R) T & |

(D) (A) T &, =1 (R) TeI € |

47.

48.

49,

50.
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ot T 21 H I < TS T
Y=4+04X

X=-2+09Y

TR e W, X A7 Y & o9 Feaa
T 2

(A) 04 (B) 05

(C) 06 (D) 0.8

FefeEs § @ ®F @ Ty faw
TR R A AT § W] wE
Tt oiior i T E AT E 7
(A) TEIEH TS

(B) TR q=ich

(C) W91 =T YR

(D) WA - Used ki

3 x 5 U e | ¢ @ 9ol
8.0 nivpiem T w0 & | v uRad
I I WAl 1 5% & Hedhar T
w wiemr fEar wEm, afe %® qe
fr=fefeaa @ ®ifc o2, aifee |
Ay FTAF R T ITTAFAE

(A) B (B) 6
(C) 4 (D) 3

HEo

(A) =HafeE gfaem=

(B) TN FEi=gh Uid=a=
(C) e (e wid=a=
(D) TTA AETesE Uiaaa
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